1. of® 2 vy o £ F 6%k uhpu o] Al & ), wha
s O] 579 )8 7bg Zheke Aheago) v LAl L.

> E:

> =Eh: 47:3

FrAdntko] BA= A 2] 100 - 6 = 94( %) ©Ict.
94:6=(94+2):(6+2)=47:3




R
~ g
ﬂ
® o
5 ol
- w)
‘wo_l_
LT
~ —
.« O
< oy
om -
g
o ©
5 &
=
R
T 5
T
E@ ol
X @
NO
S &
A
Cau
up T of
. BT
N o T

ge

84000

I -

ul
KO

.I

48000 : [ ]

4:7

4x[ ] =17x48000
]

336000 + 4 = 84000(¥)




B7IGE 9 AR ot 2 RS vhEo] Hol XA JrE &
B2 Fobeel g s B3 nE Adol HJES HatgH

HEZ} s B R fe mE @ Y7
> =1 J LH
> gE A

mi o
K2




- 8—;_)—
-« ([
635
129 BN A 62u [ Pl A4 ¢ 34
W Zes B Rl e pd Zokee e
oE g

| W2iz w1 ol Ry,
3+4+5+6+7+8=36(7H)

T o=

1+2




wojd] T A= ot 75329 Bl &=
o e

ZsheFo] 1.5 to]rhH,
> £

> ™et: 1t

_t

B

(0F):(F)=3: 2

7o) »otgs [ ot std
3:2=15:[ ]

3x[ ]=2x15

=3+3

[]=1(1)




